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Math 2058-1, Test # 2. Fall 2007
1[10P]) Find the maximum and minimum value of the function f(z,y) = z%y?on D = {(z,v) | 2> +* < 1}.

The maximum is: \/L—‘ The minimum is: O
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2[10P]) Find the point on the plain 4z + 2y — 2z = 22 closest to the point P(1,—1,2)

Thepointis: (5, |, 0)
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3[12P]) Use Lagrange multipliers to find the maximum and the minimum of the function z + 2y subject
to the constrains = +y + z = 1, 3% 4+ 22 = 8. The maximum is: 5- The minimum is: — 3
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4[48P]) Evaluate the iterated integrals:
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d) / / zydA = O where D is the triangular region with vertices (0,1), (1,0), (0,—1).
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f) //DmdA=2ﬂ£M—% where D is the region 4 < 22 + y? < 49.
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5[10P]) In the following mtegrals interchange the order of integration:

a) /I/xz f(r,y)dydw—/ /f(x,y)dwdy
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6[10]) Set up the following integrals. You do not have to evaluate the integrals!
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a) The integral for the volume of the solid under the pa,rabola z? + y? and above the region y = z? and

— 2 x\r—,
A=\ % = o o ><~\

7 |
ﬂ g & $<2+ éz chﬁ
o ><2”

b) The area enclosed by one loop of the four-leaved rose r = cos(26).
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